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Geography

Paper 1II

qIA

PEEL RGN |

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : AT GLAYehd THUT IR (100) Tgaart Ted fored oTed. Jciesh Jemen & (2)

U1 3Ted. @d U Wred.

[Maximum Marks : 200

1.

Arrange the following stages in the

history of demographic transition in

sequence using codes given :

(1) Low birth and death rates

(2) Decline in both birth and death
rates

(3) High birth and death rates

(4) Decline in death rates while
birth rates remain high

A) 3), (4), (2), (1)

B) 3), (2), (1), (4)

©) ), (2), 4, (3)

D) (D), 3), 4, (2)

sTeeee Ufagaes %9 Al :
(1) wHH S T g )
(2) S 0T g T A SEEA T

(3) I=9 S oMU g X
(4) =&l g T R =4 Ufgedell ST T

(A) (3), (4), (2), (1)

B) 3), (2), (1), (4)

(C) (D), (2), (4), 3)

D) (D), 3), (4), (2)

[P.T.O.



Consider the following statements

and select the correct option from the

codes given :

(1) A primate city is usually a
disproportionately large city.

(2) A primate city is the one that
is invariably a religious centre

(3) A primate city is exceptionally
large compared to the second
largest city

(4) India has primate cities.

Codes :

(A) (1), (2) and (3) are true

(B) (1), (3) and (4) are true

(C) Only (3) is true

(D) Only (1) is true

Which of the following factors does
not alter the total size of the
population of a country ?

(A) External migration
(B) Internal migration

(C) Higher fertility compared to
mortality

(D) Refugee migration across the
border

Which is the most densely populated
regions of the world ?

(A) Equatorial region
(B) Tropical region

(C) Temperate region
(D) Sub-Arctic region

JUN - 36219/II—C
Treiid faum foamma = sufon @nefta
HehareHgd 4w feEer
(1) SO T Th HHRII0 HIS U

3T,
(2) Ul TR WUS TH AfHE by
3TTe.
(3) O WAl Hiedl = e Th
ST YR SAYSRIHER T HIS ST
(4) YRAWT STV TER AR
Hehdieh :
(A) (1), (2) =7t (3) & ST 3Med
(B) (1), (3) =T (4) SR ATed
(C) e (3) s 318
(D) e (1) ST 3T

QUM THU  AREEIA  3ThHR
TTEATAIHRT HITCAT FCHIHS Fqad
& ?

(A) STl TIAK

(B) 3frTd TR

(C) JI&T=AT Jolid 3=d SH

~

(D) Hmr sferred fFeifeads Tees
ST FaAT e AlhaeAl Sl STHee
HIUA T R ?

(A) foveer™ w_w

(B) SUIhfeaE T TR

(C) HHSfdrsor gew

(D) 3U-3MfeRew WW




Match the following and select the
correct answer from the codes given

below :
List I
(Types of Age Pyramids)
(@) Stationary
(b) Progressive
(c) Regressive
(d) Bell shaped
List II
(Characteristics)
(1) Low birth and death rates

(2) Unchanging fertility and

mortality
(3) High birth and death rates

(4) Declining birth rate and low

mortality rate
Codes :

(@ @) @
A @ @ O @
B) 2 @ G @
e @O Q3 @ @
D) 2) B @ @

JUN - 36219/11—C

Tt Siredl S[esan 3T el feeret
Hehdlehyd Ard I e

Fret-1
(T funfue g&r)
(@ fer
(b) WAt
(c) TRMH

(d) ¥ 3THR
qrat-11

(TTuTatITS=)
(1) HHT S A g

(2) TR JSA&EA T g
(3) I=9 S WU I <L
(4) =edl S T M0 HH FI X
Hehdich
(@ B (@ (@
Aa & @ @O @
B @ @ 6 @
e O 6 @ @
D 2 B @ @
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Assertion (A) : High birth rates
display large proportion of
population in younger age groups.
Reason (R) : Industrialization has
been a factor in bringing down

fertility rate.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which is a small settlement usually
characterized by a single economic

activity ?

(A) Hamlet

(B) Village

(C) Rurban Centre

(D) Urban fringe village

JUN - 36219/11—C

A (A) : 3=9 S A EEAT g

FAEENE ST 99107 fdd sl

HIOT (R) : TRNTH IR0 BT AT FHIT

@Telt AT Hetdld|l &cch oXcdl 3:11%

(A) (A) 3TfUT (R) Traral sRIeR 31T (R)

T (A) 3 g% fowamm oM

(B) (A) 31ft1 (R) Trgiet seR g (R)
T (A) 9 ofgm fowersor @t

(C) (A) R TG (R) I

D) (A) 9% |G (R) 3T=TH

DO AHEd: TR omfe  fmam
IfRTE R Sl Th TeM a9Rd T 2
(A) T&/aret

(B) =
(C) -3l g

(D) IR Y9 TE




10.

Physiological/Nutritional density is
calculated as :

(A)

Number of people per square
unit of land

(B) Number of people per square

unit of farm land

()

Number of farmers per unit of
farm land

(D) Physical carrying capacity of

land
A bulge in population pyramid
indicates :

(A) Unusually high fertility or
mortality or changes in
population due to effects of
migration

(B) The effects of war or famines

(C) That the population is ageing
at an unusually fast pace

(D) That females join the workforce
in large numbers

Ageing at the base occurs ............

(A) When the proportion of the
population in child-age groups
remains constant due to fertility
decline

(B) When child mortality rate
shows distinct decline

(C) When fertility declines and new
birth cohorts are smaller than
previous ones

(D)

When great fluctuation is seen
in successive age cohorts

10.
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I faeh/ A0 Ta= HISTHT ¥

(A) Ui IRE it "ew drhHeE

(B) 9fd SIRE JasHIA U< Alhael

(C) ufd SRE JaSTHIA =2k Idend] &

(D) o=l URfaer  eRoTerEd

e fifieasy & gee gfed
ETCE

(A) TR FHETes STHHTTI 3o
ST fohell I fehan clieheredd

ElNEIRG S
(B) I& foran TR Amn wRomm
(C) T dAehdEd AfaeE ST
ElPc el col

(D) HieaTyHTNa Afgen srEre fehmi
TS BT

(A) SR GSA&THA=A Hedqes oTel

FANTERITS ArREE JHTO feer =

(B) Sl arergegel T w2 geiferd
(C) 1 &I At g 1707 e

ST GO ARTTY el T8 94T

(D) SRl AR g3 aehid Higl &-
Iar fegdrd
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11.

12.

13.

Which cost is incurred in the process
of moving and which are principally

made up of fuel costs and wages ?
(A) Overheads cost

(B) Transfer cost

(C) Line-haul cost

(D) Comparative cost

Which of the following is the correct
sequence about the wind-energy
producing countries of the world in

descending order ?

(A) Germany, Spain, USA, India
(B) Spain, China, Canada, India
(C) USA, Australia, Spain, India
(D) India, Spain, USA, Germany

Alfred Weber identified three factors
that determine the location of

industries :

Transportation, Labour Costs and

(A) Least cost
(B) Agglomeration
(C) Location of competitors

(D) Maximum revenue location

11.

12.

13.
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I T AT Wishad @ gl
ST AT eI $8F @ o H9d arel
TR 3TEAl ?

(A) =R T

(B) BRI T
(C) ™ e T
(D) goHs e

~

et

AT ST QR st

SCATTIR A d 3akal ShH 1ol ?
(A) S, €9, JTET., AR

(B) ¥, =M, ®Tel, WRd

(C) Fua.n., siefaar, @, i
(D) 9Rd, ¥H, J.TE.T,, SHA

STCHE R AT STRT TATeh IR v
FfE=rietor IR 1 =2 e, I

aTeqeh, AR ©E d

HHERT Bl

(A) ¥Teu T
(B) gl

(C) HuicHsh T

(D) HAA HEge &M




14. Which of the following countries,

15.

16.

whose economy is entirely dependent
on the production of petroleum ?

(A) Kuwait
(B) Venezuela
(C) Iraq

(D) Iran

Which of the following statements
is not correct about Nomadic
herding ?

(A) It is a form of intensive

subsistence agriculture
involving the grazing of
domesticated animals on

natural pastures

(B) It is practised in large belt of

arid and semi-arid lands

(C) It is an aboriginal form of

livestock raising

(D) Nomads select the type and

number of animals for the herd
according to local, cultural and
physical characteristics

The Union and Pacific Railway
connects :

(A) New York to San Francisco
(B) Halifax to Vancouver

(C) Paris to Istanbul

(D) Perth to Darwin

JUN - 36219/11—C

14. GCICTh! IO SR STefezaee qufd:

YferaEe SARAER SRa R ?
(A) H
(B) seguen
(C) ==k
(D) =T
15. ®eftadeh! Hivd faemm vea av]-
qreTeTed Ava e ?
(A) T HEId SUSifash=r de @ey
3T AT WIeddl ot 4 fifer SpTomeR
= dld
(B) ¥ Y~k o ety i e
AT hal S
(C) ¥ IYUIeH 3MfeH &Y 3T
(D) Y2 ThT=AT hodUldicd U0
Yeh R F T It fae wenfied,
hld
16. T st dfafeE T -
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17.

18.

Which of the following statements
is/are not correct ?

(@) V. Nath divided India into 15
macro regions

Ashok Mitra divided India into
5 macro regions

Prakash Rao and L.S. Bhatt
divided the country into 7
macro regions
Chandrashekhar divided India
into 13 macro regions

(@) and (d)

(B) () and (c)

(C) (a) only

(D) (d) only

Select your answer from the codes
given below :

®)

(c)

(d)

(A)

Assertion (A) : Balance of trade
records the volume of goods and
services imported as well as exported
by a country to other countries.
Reason (R) : If the value of exports
is more than the value of imports,
the country has a negative balance
of trade.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

€
(D)

17.

18.
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WUt IV a8 skeR A& ?
(@) . TG A IRATE 15 F&d J<Tma
faammft e

3R e At vRarEt 5 9%
TeuTd favmToR et
YhTINTE o TA.TH. 9 T JATE
7 Jed Yound faumroft shelt
TGUER A Rare favren 13
Ied YSU shadl

(a) S0 (d)

(b) 3T (c)

(C) & (a)

(D) B (d)

faam (A) : TETEn T GEAT QA
HATI] A Fraeiay  fAaidr=ar

®)

(c)

(d)

(A)
(B)

SRRAATE AlG AT 8.

HRUT (R) : Seg1 TRl 7o € STrmd=n

TS ST 3T, N QLS SATIRare

ECE

Hehdieh :

(A) (A) T (R) Sl s 3 37101
(R) T (A) = 3Tk TR TR,

(B) (A) 3 (R) Il s 37d g (R)
T (A) T H TIEIHRIU TG

(C) (A) T = 38 T (R) T I 3T
(D) (A) T I e W (R) T IR 378

10
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19. Which of the following statements | 19. wrefieitent M A= fagia T
about Von Thunen’s theory is not Fr fIUH SR A 7
correct ?
(A) Z= Ui HHeha) aqes-1 amd
(A) According to Thunen’s model
L AT 9t o gH IR B
concentric ring-I has market
gardening and milk production (B) &A1= JIEUTde THehg] 0|g1:oo-II
(B) Thunen’s models concentric I B AThHE 9 AThRE 3geh A
ring-II has firewood and lumber S B
production . .
(C) FTT=A1 gr&urdicd HHehsl ddes-111
(C) Thunen’s model concentric ring- o
Id YA Ol kel ST
III has livestock farming
D) A=A WIEARd HHhST agqe-1V
(D) Thunen’s model concentric ring- D) =3 g
IV has food crop farming with I STET e AT 5 T ST
fallow land 33
20. In year 2016, which one of the | 99 w9 2016 7ed, Wil HIUT=T A
following has the higher rank in R
Human Development Index ?
(A) sfierem
(A) Sri Lanka
(B) Bhutan (B) ST
(C) India (C) ¥rd
(D) Bangladesh (D) TR
11 [P.T.O.



21.

22.

Assertion (A) : Tribal people in
India are generally concentrated in
relatively inaccessible parts of the
country.

Reason (R) : All the tribal people
in India practice shifting cultivation

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is correct

The National Health Policy (updated
in 2017) focuses on which of the
following ?

(@)

(B)

Growing burden of the non-
communicable diseases.

(b)

Emergence of robust health
care industry

(c)

Growing incidences of catastro-
phic expenditure due to health
care costs.

Codes :

(A) (@) and (b)
(B) (@) and (c)

(C) (b) and (c)

(D) (@), (b) and (c)

21.

22.
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fagm™ (A) : yRana eTfeard @h
;. QETAT ad STEArl ()
IHE whigd STed.
SHRUT (R) : YRANTS ¥a STiCar @
forenfia 9t L.

ETATIdeh! hIvd ek A ?

F@H’I'T:E :

(A) (A) 3for (R) =T sIlsR 3717 (R)
T (A) ¥ T fawcmu o1e

(B) (A) 3Tft1 (R) Sraldl e 3Tfur (R)
T (A) 3 s foavemm A

(C) (A) TR |G (R) I

(D) (A) % W (R) TR

TS ST R0 (2017 HEA e
HAIER) WeAcTUeh! HIMEX A&l g
ExGE

(@) ITHhiAd

(Mo’ STIedT SITHTeR

(b) TR o IR S JHOMA

Bl

(c) TRTE Far=a @diHes IS
T Ferel o6

Hehdich

(A) (a) o (B)

(B) (a) A (c)

(C) (b) U (c)

D) (a), (b) A (c)

12



23.

24.

Select the correct option(s) for the
statement from the codes given

below :
A region is more diverse culturally
if it :

(@)

has homogeneous population

composition

®)

has heterogeneous population

composition.

receives voluminous in

(c)

migration.
(d) is geographically isolated.
Codes :
(A) Only (a) and (b)
(B) Only (b)
(C) Only (b) and (c)
(D) Only (¢) and (d)

Which boundaries result when a
smaller state is absorbed by a larger

one ?

(A) Relict

(B) Superimposed
(C) Subsequent
(D) Antecedent

23.

24.

JUN - 36219/11—C
Trel!l feoed HehdihMyA ek faum
frarer -
T 35 iR e S1fYeh Sfaregol o/
EEE

(@) THTHH AREEA T 3T

(b) fafay deden @ T9d

(c) gl HISUTIHUNG Sieeeleial I

EXG
(d) Seg drfferrgssn favea o™
Hehdieh
(A) K (a) 0T (b)
(B) & (b)
(C) e (b) AT (c)
(D) K (c) U (d)

SRl e TSI HIg USF fiessha

qeel IV S 9RO B ?
(A) reRsi

(B) sremifua

(C) et

(D) gafgadt

13

[P.T.O.



25.

26.

27.

Who has divided the globe into

Geostrategic realms ?
(A) Bassin
(B) Cohen
(C) Kjellen
(D) Parker

Harlan Barrows in the 1940s, for the
first time proposed which term that
the of

how human responses to the

encompasses study

environment reflect the specific
composition of the culture group

involved ?

(A) Cultural Geography
(B) Cultural Ecology
(C) Cultural integration
(D) Cutlural diffusion

Which of the following is a rich
source of data on the caste Hindu

Population ?

(A) 1921 Census
(B) 1931 Census
(C) 1941 Census
(D) 1951 Census

25.

26.

27.
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STl Ul R IRESEHE faymof
et ?

(A) =EH
(B) =higd
(C) Sieid
(D) 9T

N0

1940 1 AT JIUS IHT TS sheded!

GhHoUql HIUT AR SIHE IS

qeet gfade 9 gHifase gidd I o

A Dolel TR ?

(A) WrEpfas i
(B) wiehfaer uffeafaest

(C) WEH{dHh THICHD IR

(D) HERfds TER
. ~ ~ AN [al AN A
%@-Tﬂ'ﬁ STANCH[ AlenHeddlal ClletYenl

FIUMT A UGS WG A 2

(A) 1921 SITOHT
(B) 1931 SHIOMET
(C) 1941 SHATOMT

(D) 1951 SITOTT

14
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28. Santhals are predominantly found 28. |l HHEA AT ShIOTCT ST
in which part of India ? reeadrd ?
(A) Northern (A) I
(B) Eastern (B) Y=
(C) Southern (C) itz
(D) North-Western (D) ===
29. The presence of Baruhi, Kurukh- | 29. ST YRANIS SM&al, HE@-REA A0
Oraon and Gondi dialects in North T AT e S % % ST =TT
India suggests the earlier stage of - ~
W ST <HAIA IEd sndld ?
destruction of which family of
languages ? (A) ArE-enferfes
(A) Austro-Asiatic (B) s
(B) Dravidian
(C) HHI-fasfesm
(C) Sino Tibetan
D) sEI-gufEa
(D) Indo-European @) ==
30. Which is not a characteristic of 30. TCIICTHR! HIFS A ST
culture ? UL
(A) Culture is hereditary (A) TEpdl & STIATIE Srd
(B) Culture is dynamic (B) W&l & wifen erEd
(C) Culture is adaptive (C) "&pdt & erpfad srd
(D) Culture is symbolic (D) TRl & UfderrcAsh 3TEd
15 [P.T.O.



31.

32.

Assertion (A) : Ritter’s concept of
organic unity in nature was based

on the principles of divine creation.

Reason (R) : Ritter was teleological

in his approach.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)

(C) Both (A) and (R) are false

(D) (A) is true and (R) is false

Which of the following is not correct

with reference to post-modernism in
geography ?
(A) Scepticism towards grand

claims

(B) Rejection of Metanarratives or

grand theory

(C) Deconstruction as a mode of

critical interpretation

(D) Use of binary classification

31.

32.
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el (a}

Stfaeh Tt X

faegm (A) : e
Bt

HIOT (R) : R am=n gfeswd Saard

Bl

Hehdich

(A) (A) 3707 (R) ST SRR S7IfT (R)
T (A) T g fowermm TR

(B) (A) 37fu1 (R) Srard! sfe 3Tfur (R)
T (A) T s foavomm A

(C) T=T (A) enfor (R) 9 3T
(D) (A) 3% T (R) 9%

PN I - ST AhaTeTQr=A ST

EATeiyeh! hiord faem se) AT ?

(A) 99 TP HYEER
(B) Her-warcHs feer e fagiarn

Th

(C) wewaqul faveio o= T HieA ®UA

EICESIEIRC IR

(D) fg-seehig orfieRom=n o9

16



33.

34.

Which of the four geographers are
credited for having re-established
integrated

geography as an

science ?

(A) Elisee Reclus, Ferdinand Von
Richthofen Alfred Hettner and
Vidal-de-la-Blache

(B) Friedrich Ratzel, Arnold Guyot,
Alfred Hettner and Vidal-de-la-

Blache

(C) Friedrich Ratzel, Ferdinand
Von Richthofen, Alfred Hettner

and Vidal-de-la-Blache

(D) Friedrich Ratzel, Ferdinand,
Von Richthofen, Alfred Hettner

and Otto Schluter

Arrange the following philosophers
in ascending order starting from

their periods :
@)
(z1) Thales

Eratosthenes

(i11) Aristotle

(iv) Herodotus

A @& @ @) Go)
B) @ @ Gv) @D
(C) @ G @) @
D) @) @) @) G

33.

34.

JUN - 36219/11—C

et Tk Qoo for weop et

FIOIHE! RV IR IARRAT 5

feat sma 2

(A) T fereTst, wiETe-egM-Redie,
TS geR i fegea-<i-ar-
ST

(B) Hefieh {egd, 3TIee AR, 3Ths

BT anfor fegera-<Sr-an-samsn

(C) el o=, hieTe-ar- Red,
AThe TR 3Ty fgea- -

SART

(D) el (e, wieae-2n- fede,
3ThS g S 3 T

Tl TRaadehTl AT ShTAehTATTHR

Tl UM HIST

() TyElferE

(i) 9eF

(iii) ST

(iv) eSEeH

A @) G ) Gv)
B) @ @O @) G
©) G) Gv) G G)
D) Gv) G) G Gid)

17
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35.

36.

Which of the following refers to the
belief that geography and history
are methodologically distinct from
other systematic sciences because
they are peculiarly concerned with
the study of the unique and the

particular ?

(A) Positivism

(B) Humanism
(C) Radicalism
(D) Exceptionalism

In reaction to whose work,
Hartshorne wrote several articles
and finally the book, “Perspective on

the Nature of Geography” ?
(A) Ackerman

(B) Haggett

(C) Sauer

(D) Schaefer

35.

36.

JUN - 36219/11—C

WA TeAdeh! heMd 3T RS Sieel i
e AT Sferd 3R TGl Ty

GHEA 9Tl 3TRd ho o fasre:
THHa o fafyte st wefyd
e ?

(A) THEIAE
(B) HAddER
(C) gRed=are

(D) SAUAIRTHSR A

I ShTATCA fdfhal TUA S

eI gitesha ' 318 T fafeat ?
(A) 3ThTHEA

(B) &

(C) HrR

D) TR

18
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37. Which one of the following does | 37. Tﬁa‘rq%ﬁa EATeTdehl hIval Tk &g
not represent a dichotomy in eytad e ?
Geography ?
(A) Yrhfaer owfor Hr=ei
(A) Physical and Human
(B) Political and Historical (B) :
(C) Regional and Systematic (C) weferes mfor ggaRi
(D) Quantitative and Qualitative (D) G&ATHE 3o RRIREED
38. Humboldt studied the rocks of the 38. 6]—q\|qrd:| d‘TS'\l\?I'C"*ll qchi-oq| {9|S°h|"°||
Andes mountains and disproved the S e WP A e e
earlier theory of sedimentary N S
origin of all rocks proposed by
et ?
whom ?
(A) Werner (A) TR
(B) Buache (B) Sameh
(C) Busching (C) i
(D) Davis (D) @%ﬁﬂ
39. Who in 1905 clearly expressed the 39, FU 1905 T wl\lcd ST gesfe 3
logical arguments concerning the .. - -
8! gt _ e TS dlfcheh Forilale AU ek
place of the Earth’s body in the field
?
of Geography ? w4
(A) Ritter 4 fx
(B) Hettner (B) &N
(C) Sauer (C) 9|
(D) Richthofen (D) A
19 [P.T.O.



40.

41.

While Davis’s concept projected
geography as the study of man-land
relationship from a deterministic
perspective, who viewed geography
as the study of covariants of human
distributions over the earth’s

surface ?

(A) Hettner
(B) Ratzel
(C) Richthofen
(D) Schulter

Read the statements and select the

correct option given below :

(1) EMR travels at the speed of

light

(2) EMR cannot pass through

vacuum

EMR has two fields : Electric

and magnetic

3)

(4) The wavelength and frequency

are proportional to each other
(A)
(B)
(©)
(D)

(1), (2), (3) and (4) are true
(1), (3) and (4) are true
(1) and (2) are true

(1) and (3) are true

40.

41.

JUN - 36219/11—C

Sfgd=a Gehedad 38 AT wol

T BN FHe=zemer=a gitesnHg
Y-S Gl 79I, Seiierieh]

I el geefl=a1 J3HNTeR el
foraRuTT=a Fgaaal T WA difeal

R ?

(A) BT
(B) ¥
(C) fgdreA

(D) IR
@l R ssk gag fAaer .

forRIagaIeh d SUIshH & HeRTRIT=AT ST
CIEKIG)

(1)

foreIgeient™ SIUishH § Thadiqd ST

Yehd AR

fagagasia auiea™ faga =

(2)

3)

Johd &3 A

(4) TUTATST o9 IRATRAT & THHKMA

AAYIGG Sl
(A) (1), (2), (3) & (4) 3T e
(B) (1), (3) & (4) 3o &
(C) (1) & (2) 3=k e

(D) (1) 9 (3) 3TgH A

20



42.

43.

Read the statements given below

and select the correct option :

(@)

Vector data has complex data

structure than raster data

®)

Vector data is not compatible

with remote sensing images

Vector data is efficient for

(c)

network analysis
Codes :

(A) (a) and (b) are true but (¢) is

false

(B) (@) and (c¢) are true but (b) is

false
(C) (a), () and (c) are true

(D) (b) and (¢) are true but (a) is

false

Distance between isotherms

indicates :

(A) Temperature gradient

42.

JUN - 36219/11—C

Tl faaMee o foem siis]
e ?

STt gfqamr=t 9= § gfew

faarTaen fFerse SR

(@)

(b) St gfaaE & ggT HagAr=

YA S ST&9 3T

STeiesieh faversomaed Siedt gfadm
T S hEed S

Hehdih :
(A) (@) 9 (b) 3TFH 3Aed T (c) I
3R

(B) (a) 3TV (c) 379w 3T—d 9 (b) Ieh
3T

(C) (a), (b) MU (c) 3T R
(D) (b) 3 (c) 3T=H M TR (@) TH

(c)

(A) TqMYHEHEET €3

(B) Pressure anomaly (B) <mem= STt
(C) Temperature lag
(C) TYHMT= ag=rdl
(D) Deviation from normal
temperature (D) | AIHAMIRA forere
21 [P.T.O.



44.

45.

Altimetric frequency curve is used

for :

(A) Computation of population

distribution

(B) Computation of pressure

distribution

(C) Computation of rainfall

distribution

(D) Computation of elevation above

sea level
Interpolation of contours refers to :

(A) Drawing contour lines on map,

when spot heights are given

(B) Measuring gradient along with

contour lines
(C) Interpretation of contour lines

(D) Joining contour lines for specific

application

44.

45.

JUN - 36219/11—C

ST IRARAl gl aTR ¢

(A) RS fIaUum= HISTHY SHIUIrETe

(B) <rer=a fodoma WsHrg SHIvardat

(C) IS Taawume HISHY HIvaEat

(D) 995U qrgA IS HISH

HIOITETS

TH=ETT S9N ;

(A) T ITATRITHR FHTALHT TR

T gferol

(B) GHI=RUER @3 HISTl

(C) FHEEEIER STAes™ vl

(D) fafsrse STEMEEST TH==Re SIS0

22
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46. Read the statements given below | 46. @il faumEa arg fauym faeer
and select the correct option ?
(1) <& o 41 =1 Sdes 34d
(1) Strong correlation is when the .
EE] 30 HeHaY STEdd
values are close to ‘+1’
(2) The value of ‘0’ (zero) represents (2) 0 HeH IFEEESY o
no correlation (3) 1 = T e S weEey
(3) The value close to ‘~1’ represents s
weak correlation
A) ®eH fa¥™ (1) 3=
(A) Only statement (1) is true &) WL e
(B) Only statement (3) is true (B) ®H a8 (3) & 3M®
(C) Statements (1) and (2) are true (C) faum (1) anfor (2) e M8 T
but (3) is false
(3) I& e
(D) Statements (1), (2) and (3) are
true (D) faem (1), (2) U1 (3) 3T 3ed
47. Which of the following would be best | 47. eIl hivwl w4 FHeT fereersm’
represented by the ‘Nearest &S Ang g ?
igh Analysis’ ? N
Neighbour AEIS (A) THEdrE TadaiT
(A) Distribution of Settlements .
(B) ArhE&I=l Ol
(B) Density of Population
(C) Tadar X
(C) Literacy rate
(D) - THTT
(D) Sex ratio B
23 [P.T.O.



48.

49.

The

relationship among the following :

(A)

Ergograph reveals with

Relative Humidity and

temperature

(B) Climate and growing seasons of

ages
(®)
(D)

Temperature and rainfall
Temperature and pressure

Two statements are given below, one
is labelled as Assertion (A) and
another labelled as Reason (R) :

Assertion (A) : Fog is the result
of non-selective scattering of visible
EMR.

Reason (R) Atmospheric
constituents larger than the EMR
wavelength result in scattering of all
visible rays.

Select the correct option from the
codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(®)
(D)

48.

49.

JUN - 36219/11—C

STNUTHET TR el STsidied Tgdee

TRETIIEE Bl
(A) A& Tsdl 9 ATaHA

(B) BIMM o Uieh ANEEET HIES

(C) ATHM 9 TSi=ge

(D) 999 9 gadl <&

faam (A) : 4o © 539 faga ga=

TS HAiereeh ferfertumen aitom 1.

HROT (R) : SCELONdIA ek S

qUTersl foga gesia ugTden S
3| A qRemm e gva fevumen
fofertomer. gl

AT HIOW TR S 2

(A) T (A) 9 (R) &% A (R) ®
(A) T Irg TR 2T

(B) T (A) @ (R) 3T 31ed g (R)

T (A) T ITH TICR AR
(C) (A) 39 e R (R) B I M

(D) (A) I% 3R W (R) & 3TH 3T

24



50. Match List-I with List-IT and select

the correct option using the codes

given below :

(@)
)
()
(d)

(1)
(2)
3)
(4)

List I

(Name)
Microwave
Near Infrared wave
Ultraviolet wave
Thermal wave

List II

(Wavelength)

8—9.2 ym
0.3—0.4 pm
7.5—11.5 pm

0.77—0.91 pm

Codes :

A) 3)
B) )
©) @)

D) 3)

(@ B © @

4) @ @

2 @ O

o B @

1 @2 @

JUN - 36219/11—C

50. IE1-1 & FRI-11 ar=a Siedl Jesed

ETeltd Fendietd ara waE faer .

Tat-1
(=)
(@) 3fers Ehen =l
(b) Sithal ST U oTBd
(c) oFt e e
(@) @ ol
Tra-11
(TSI
(1) 8-9.2 um
(2) 0.3—0.4 pm
(3) 7.5—11.5 pym
4) 0.77—0.91 pm
Hehdich
(@ B (@ (@
A Q@ @ @ @
B ®» 2 @ O
< @ @O 6 @
D B @O 2 @

25
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51.

52.

Which of the following statements

are correct ?

(1) Large parts of the Gondwana
land were affected by glaciers

in the carboniferous period

Traces of the carboniferous

(2)
glaciation are found in the

Himalayas

3)

The Aravallis represent the

oldest hill range in India

(4)

The tertiary system is known as

the age of the Mammals
Codes :

(A) (1), (2) and (3) only

(B) (1), (3) and (4) only

(C) (1), (2) and (4) only

D) (1), (2), (3) and (4)

India’s Research Station ‘Himadrt’ is

located in the :
(A) Northern Himalayas
(B) Western Himalayas
(C) Antarctica

(D) Arctic

51.

52.

JUN - 36219/11—C

Teitel 0 faae sle a8 -
(1) TiiedM ofe=n Hal 9N s Thy

FIeEe ferTeares quifad et

(2) TEHTAMEY FEHE EHTear 3191

ST&esdld

(3) WA YRAMeA Fald =1 T

e gfafafe s

(4) TS TG TEAARIE O hicae’
BUH slaEd S

Hehdich

(A) (1), (2) swfor (3) ek

(B) (1), (3) 3for (4) T

(C) (1), (2) 2foT (4) e

(D) (1), (2), (3) 3T (4)

Rar el SEiEA %E ®IS awa
e ?

(A) W T

(B) ufr=w fewem™

(C) eTrferamt

(D) sfe®

26
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53. Choose the correct statement about | 53. HRAT=AT AWM FenfaeEl A faem
climatic regions of India ? e
(1) Stamp used 18°C isotherm of (1) 29re @F Ao M  fau
mean monthly temperature for ‘ .
- IERINERIEICI Mkt E BESIE CIES]
January to divide the country ~ .
into two broad climatic regions. HIEAr=AT FIE qraArr=r 18°C
(2) Stamp’s two major climatic SHATH A AR <ol
regions are further divided into (2) TEEN YHIOT STfOT qr9HE A=A
eleven regions depending upon SRR R 39 YT g
the amount of rainfall and Sor 7 Sormed Fyah
temperature.
(3) Koeppen identified a close
relationship between the (3) HIUA TATHM ATV FAEA foawon-
distribution of vegetation and A T3 99y A@Teal
climate.
, , (4) HIYTA U9 YHE BAHME GHE
(4) Koeppen recognized five major - .
. . Hleollel, Ml dR GSIHHATAX
climatic groups, four of them are
based on precipitation and one ST Toh ATIHMER STHING ST
on temperature. HadiF :
Codes :
(A) (1), (2) i1 (4) Hed
(A) (1), (2) and (4) only
(B) (2), (3) 30T (4) Fed
(B) (2), (3) and (4) only
(C) (1), (2) and (3) only (€) (1), (2) =Aon (3) HeHd
D) (1), (2), (3) and (4) only D) (1), (2), (3) (U (4) ek
54. Which of the following rivers is not | 54. TICHTeTeh! STV &1 FHehgmel B S
cut by Tropic of Cancer ? A& ?
(A) Banas (A) 9H
(B) Ken (B) =
(C) Damodar (C) THRY
(D) Hooghli (D) E-r,gﬁ
27 [P.T.O.



55.

56.

Consider the following statements :

(1) As per 2011 census, the rural-
urban population share in
India is 68.84% and 31.16%
respectively.

(2) The growth of population in
India during 2001-2011 has

increased

The sex ratio in India has
decreased since 2001-2011

The absolute increase in urban
population has exceeded the
absolute increase in rural
population

3)

(4)

Choose the correct statement(s) :
(A) (1) only

(B) (1), (3) and (4) only

(C) (1) and (2) only

(D) (1), (2), (3) and (4)

Assertion (A) : Jowar is grown both
as Kharif as well as Rabi crop.

Reason (R) : Jowar is a rainfed crop
of dry farming areas where
irrigation is not used.

Codes :

(A) Both (A) and (R) are true and
(R) explains (A)

Both (A) and (R) are true but
(R) does not explain (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®)
(D)

55.

56.

JUN - 36219/11—C
el faum e = .

(1) 2011 =1 SFVATER, WRATdA
T o I AlRTE del @l
3TIRH 68.84% T 31.16% 3Tk

(2) 2001-2011 TEIH YRAT ARIEA
e et 2R,

(3) 2001-2011 ST WRATd Hi-T&H
YHIUTG B e

(4) TTHOT e R EEAT dereT Il
Ry e 9% SR TR

Iy faum fraer .
(A) (1) B

(B) (1), (8) 3T (4) Taa
(C) (1) =Tfvr (2) Hea

D) (1), (2), (3) ivT (4)

faeam™ (A) : SR B9 A WA

e emEHey faehean.

HROT (R) : SOR § $RedE Irdia

qegER aia o ome e fa==

gfaen arielt Sa AT

e

(A) (A) sfor (R) =R 310 (R) § (A)
q g fawermm ee

(B) (A) 37t (R) sRIeR 3707 (R) § (A)
3 g favemm A

(C) (A) o=k R (R) T

D) (A) ok T (R) s

28



JUN - 36219/11—C

57. Identify the regions of India where | 57. YRAMl T Ye¥ 3ies@n NI 3@ 19
shale gas are found : RS
(1) Cambay Basin (1) e @R
(2) Kaveri Basin (2) wHEE ©WR
(3) Krishna-Godavari Basin (3) FEN-TIRE @R
Select the correct answer using the Ereltel foeiean HehdehgaR 3T S|
codes given below : IRESEE
(A) (2) only (A) (2) Tekd
(B) (1) and (2) only (B) (1) =7for (2) wer
(C) (1) and (3) only (C) (1) 3mfur (3) e
(D) (1), (2) and (3) only (D) (1), (2) 3T (3) B
58. Choose the correct option : 58. AMY 9¥g fHaer
List I List II -1 -1
(1) Newsprint and — Nepanagar, P J—
Paper Mills M.P.
(2)  Mysore Paper Mills — Miysore, A HT
Kamataka | @ K TR Hew — T wAew
(3  The Hindustan — Vellore, @ fgem=Ete - deem, ey
Newsprint TamilNadu | (4) dHieTg e — =g, AHIBTS
(4) TamilNadu Newsprint ~— Chennai, Sy A
and Paper Ltd. Tamil Nadu i
Codes :
(A) (1), (2) and (4) only &) (), @) e (4) T
(B) (1), (2) and (3) only B) (1), (@) 3 (3) P
(©) (1) and (3) only (©) (1) sufor (3) e
(D) (2) and (4) only (D) (2) AT (4) Pk
29 [P.T.O.



59.

60.

Which of the following statements
are correct about Bogibeel bridge,
India’s longest rail cum road
bridge ?

@))

(2)

It is over Brahmaputra

It is between Dhemaji and

Dibrugarh district

(3) The total length of the bridge

is 4.96 km

(4) It can withstand earthquakes of

magnitude upto 7 an Richter

scale
Codes :
(A) (1), (2) and (3) only
(B) (1), (2) and (4) only
(C) (1), (3) and (4) only
D) (1), (2), (3) and (4)

Which of the following is true about
proposed Bullet train route in

India ?

(A) Mumbai—Ahmedabad
(B) Mumbai—Hyderabad
(C) Mumbai—Nagpur

(D) Delhi—Nagpur

59.

60.

JUN - 36219/11—C

YRATH S Falid o (oo IS gl arfaa
JATIGG A TTeerden! IV faem akeR
;e ?

(1) & o SR TeeR 31

(2) R ga gHnt oA fagme =
TSiegae=H oTe

(3) o1 YTl TR et 4.96 fRHT 3T

(4) & ga 7 e e dierd=an qendren

HEA FE IR
Hehdich
(A) (1), (2) smfor (3) ek
(B) (1), (2) 3for (4) T
(C) (D), (3) 3for (4) e
D) (1), (2), (3) v (4)
ORATE YEIfad gaie 29 HRTfase

@eileTdeh! Il A SeR 38 ?

(A) HIE—3ITBAEE
(B) HE—&se
(C) HIT—TTTR
(D) feeei—rTg
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62.

63.

64.

has popularized the
concept of ‘Uniformitarianism’ in a
book ‘Principles of Geology’ (1830).

(A) James Hutton

(B) C. Lyell

(C) W. Penck

(D) A. Wegner

The feature ‘Scroll Lake’ is related

(A) Playa

(B) Karstic

(C) Glacial melt
(D) Riverine

‘Paternoster Lake’ is a

feature.

(A) Riverine
(B) Aeolian
(C) Karstic
(D) Glacial

Ventifacts are cut and sometimes

................ action of wind.

polished by
(A) Abrasive
(B) Deflation
(C) Attrition

(D) Corrosion

61.

62.

63.

64.

JUN - 36219/11—C

‘gHFAERE’ B HeheT
3Mge fafaaes o1fw fSreAtarst (1830)
A YRR AT el

(A) = &

(B) HI. @R«

(C) o=, U

(D) T TR

‘TR W’ ¥ g8
R,

(A) TR

(B) TA@EMET YW

[a) o N

(C) feueT fordeso
(D) =
FeARE TR 7
(A)

(B) ==

(C) TAEEET We¥

(D) feme

I A AR § e d
TG Hod eI B
(A) ST

(B) A9

(C) H=rersiy

(D) =w
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65. Match List-I and List-II and select
the correct answer using the codes

given below :

List I

(Theories/Hypothesis)

(@) Geosynclinal theory
(b) Tetrahedral Hypothesis
(¢c) Stationary wave theory
(d) Subsidence theory

List II

(Related Aspects)

(1) Origin of tides
(2) Origin of coral reef and atolls
(3) Mountain building

(4) Origin of continents and ocean

basins
Codes :

(@ G © @
Aa 3 @ @ @
B @ B @ @
< 3 @ @O @
M @ & @O @

JUN - 36219/11—C

65. RI-1 3T FR_T-11 A= e oo
Trelid Fehdiehiqd ara @ faer

(@)
b)
(c)

(d)

(1)
(2)
3)
(4)

rat-1
(Faegia/Téideh)
ygoit fagra
aGTSF TR
feer T fosia
steme fagra
aret-11
(Tefaa "e®)
et-sferere fAfHd
JeesfWl & shepvurgry HfHd
T fafet

K3 K3
-
-

@ B © @

A G @ @ @

B @ B @ @

< & @ @1 @

M @ & @O @

32



66.

67.

68.

According to Strahlen’s stream
ordering when a stream of 2nd order
joins 3rd order stream, the order of
higher order stream will ...........
(A) Increase

(B) Decrease

(C) Remain same

(D) Be added

The river with meagre source of
water that is left after the river
capture is known as ...........
(A) Rejuvenated River
(B) Captured River

(C) Captor River

(D) Misfit River

Which of the following factors
influence the type and rate of
weathering ?

(1) Soil
2)
(3)
4)
5)
(A)
(B)
©)
D)

Climate
Vegetation cover
Rock structure
Topography

(1), (2), (3) and (4)
(2), (3), (4) and (5)
(1), (2), (3) and (5)
(1), (2), (4) and (5)

66.

67.

68.

JUN - 36219/11—C

R Ya18 hAdGaTaR Steal fgdia
ShHTehIa YaTg i shHlhr=al JaTer
fieadTd degl 3= ShHeg JaTeral shHegal

(A) @&

(B) & 2

(C) |REAr Ted
(D) foazfaet sm

T <R TS 3oy wET o
ST ST W
(A) FFesSiieT 7t

(B) =ifda =<t

(C) I &

(D) fowmma =<t

foeRUT™ YRR & ATl Weedeht hivl
HIVG T guifad wad ?

(1) 7

(2) =A™
3)
(4)
(5)
(A)
(B)
(®)
(D)

I TS

ErEehTal Tl
W

(1), (2), (3) afur (4)
(2), (3), (4) 37fU (5)
(1), (2), (3) =7fun (5)
(1), (2), (4) 3for (5)
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69.

70.

Which one of the following groups

is the product of erosion ?

(A)

Drumlins, Moraines, Aretes

(B) U-shaped valleys, Ventifacts,

Natural Levee

(C) Eskers, Fjords, Outwash plain

(D) Cirques, V-shaped valleys,

Demoiselles

Assertion (A) : Deflation basins are
erosional features and may be upto

several kilometers in diameter.

Reason (R) : Removal of sand
particles by the wind is a cause of

Deflation basin formation.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

69.

70.

JUN - 36219/11—C

3TIERTM TR STl WTeAeTdeh! vl

T e ?

(A) fee-frd, fediie, wee

(B) ‘F-3ARr= T, A, Fafitw
LiGE

(C) TeHe e, fReile, fersae fiem

(D) femmeR, - ARET 4, SHigHe™

faeam (A) : 3T9eRT @R YA Y&

319 9 4 fohcieh fohaiiel smmaeia o1

ITehd.

TROT (R) : T9oRA @rare A &
STIRTRUM= aT=aTgR fA&aor smean
FHROM B

AT HIOG T3S 2

(A) T (A) 9 (R) 319 3F (R) ®
(A) ¥ Irg TS B

(B) <l (A) 9 (R) 37¥ 37ed Ry (R)
T (A) T EH TIEHR AR

(C) (A) 79 38 W (R) T 9% 3T
(D) (A) I% 3R g (R) T TgF TR
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71. The temperature at which air needs | 71 g4 HYed BUAES S ATIHAETIE A O
to be cooled to reach saturation et T R T AT,
1S teeriee e,
(A) Tafdg amH =
(A) Dew-point temperature
(B) &Rl HEAE ATIHH
(B) Dry bulb temperature
(C) Wet bulb temperature (C) S GrAre ATqH
(D) Boiling point temperature (D) Scherd feig dramm
72. Arrange the following in terms of | 72. T TR SRTedeh e Sacdl s
decreasing albedo : SIE LI
(1) Fresh show (1) M TSl 9%
(2) Pine forest (2) WEA aH
(3) Glacier ice (3) fercidal o
(4) Loamy soil (4) ST HAT
(A) (D), (3), (4), (2) (A) (1), 3), (4), (2)
(B) (1), (3), (2), (4) (B) (1), 3), (2), (4)
(€ (3), (1), (2), 4 (€ 3), (1), (2), (4)
D) 3), (1), 4, (2) (D) 3), (1), (4, (2)
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73.

74.

75.

Assertion (A) : At midnight, net
radiation is negative.

Reason (R) : In the afternoon, net
radiation decreases as insolation
decreases.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)

Both (A) and (R) are true but
(R) is not the correct explana-
tion of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(©)
(D)
The branch of climatology which
analyzes proxy data to reconstruct

past climate is named as

(A) Synoptic climatology
(B) Dynamic climatology
(C) Paleoclimatology

(D) Regional climatology

These clouds are high, white and
thin :

(A) Cirrus
(B) Stratus
(C) Cumulus

(D) Stratocumulus

73.

74.

75.

JUN - 36219/11—C
faam (A) : TeEREtae, e IR B
3T

IUT (R) : TURT (HeuR) , THeaes gru
Ted WA S AU Fed S

@eitel GehdiehTUeh! I fereheyq faret ;
(A) (A) g (R) Tl seR 3Ted 20
(R) ® (A) ¥ a7 TqLEIHT 3R

(B) (A) 3 (R) Il seR 37d WG (R)
T (A) T H TSR AR

(C) (A) T =R 38 T (R) T I 3T
D) (A) T Ih e W (R) T IR 378

TSN Imen S gfqwsh e
fergetson depTaardiel BamAMrel Gcer
FIOIES HE & BT
I TEUTIA.

(A) FHESIA (Synoptic) STHISTE
(B) Tifdeh gETHRIE

(C) JUaT BATHTRITE

(D) URf¥Teh SETHHRITS

¥ T 39, TR 9 foale ormad
(A) dr™

(B) ¥H

(C)

(D) e
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76. The alphabetical symbol (List-I) in

Koppens climate classification and
their matching climate type (List-1I)

are given.

Match List-I and List-IT and select
the correct answer from the codes

given below :

List I
(@) Am
() BSh
(¢0 ET
(d) CWb
List II

(1) Tundra climate
(2) Hot semi-arid climate
(3) Tropical monsoon climate
(4) Subtropical highland climate
Codes :

@ & © @
A 2 3 @ @
B) @ @ QO @
<€ B @ QO @
D @ 3 O @

JUN - 36219/11—C

76. HIUTAT TATHM SR LUNdA AUITshHT g

(AE-1) 30T =R S[@UIR - gAHH
TR (FE-11) fooer emmea.

-1 & ARI-11 I Sred Sjesad @etia
Hehdlehiqd g e freen .

ret-1

(@ Am
(b) BSh
(¢ ET
(d) CWb
Fret-11

(1) g &M
(2) SO AHR TATHMH
(3) IWhicTHT WA TAHMH
(4) IU-SURRfeHHE Fedd gATHN
Hehdich

(@ ®&) @ @
A @ & @ @
B & @ @O @
e & @ @O @
D 2 B QO @
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77.

78.

Why is surface air temperature
measured at a standard height of 1.5

meters ?

(A) The winds are lighter at this

level
(B) By international law

(C) To ensure an accurate reading

insulated from surface effects

(D) To allow the observe to read the
temperature at eye level

without stooping

Which statement is incorrect

regarding the Coriolis force ?

(A) It is always directed at right

angle to the direction of wind

(B) It deflects winds to the right in
northern hemisphere and to the

left in southern hemisphere

(C) It directly affects wind speed

(D) It is strongest at the poles and

weakens equatorwards

77.

78.

JUN - 36219/11—C

JSIIHTa=AT goid AMqHE § 1.5 HIX A

JHIOTG S=el T HISTA SId ?

(A) TS WU dR BASh 8

(B) ST SHIEFEIER

(C) Ys3vITr=A1 YRUHTIRM 3T A

(alla

HIIR=d

H LIS

(D) FOererTar Well 9 dehal dr9q

TSIl /a3

Nes N

HINTH TAT e Telicideh! shIvd
faum g e ?

(A) Tt foem &€ araren fesieh
EAECARIGIIC RS

(B) S Tiendld @ oI Seidiehe
afor < faror Meeld s Sethe
fagfua s

(C) = e gRomy ar=gr=a amer gl

A W

fors[agmehe FHEAd Il

(D) @ YaER SR
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79.

80.

Important characteristic of
atmospheric layers (List-I) and
atmospheric layers (List-II) are
given. Match List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Reflects radio waves back to
earth
(b) Fall in temperature stops
(¢) Temperature falls with height
(d) Contains most of ozone
List II
(1) Stratosphere
(2) Troposphere
(3) Ionosphere
(4) Tropopause
Codes :
(@ b)) @© @
A 1 @ 2 O
@ & 1O @ @
o o 6 @ @
D & @ @ @

Assertion (A) : The Siberian
climate is conspicuosly absent in the
southern hemisphere.

Reason (R) The southern
continents are marked by the
broadness in the high latitudes.
Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)
Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
(D)

79.

80.

JUN - 36219/11—C

SISO TR Heware A (IRl 1)
anfor araeReme R (AE-11) feoe
3. ARI-1 F AR - 11 3= St o
T HehdlehIqd g fere
ret-1
e ol yedire wafda g
AIHMIA oS oTeld
AT S8R Hed
JqHED S SR 3T STl
arer-11
EGIETE
(2) U
(3) SATIATEO
(4) &raform
Wehdiah :
(@) ()
A 1 @
B) B @

<o o 6 @2 @
D & @ @ @

faam™ (A) : IFaREA gaME € <fero
Tieneld geeeediayyl ST 3T,
HIUT (R) : =0 AARMHE fe0hera
e fawga emRa.

(@)
(®)
(c)
d)

(1)

(c)
(2)
4)

(d)
3)
(2)

T Geharehtuesh! A4 faseq feret .
(A) (A) F (R) Trg! sIsR 3fed 3fur
(R) T (A) ¥ Ig TR 3.
(B) (A) 9 (R) T=I sIsR 3Ted W (R)
T (A) T IH TSI AR
(C) (A) B =R 218 W (R) ¥ I M8
(D) (A) T TH 3¢ WG (R) § SR 3T
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81.

82.

83.

As per the J. Tuzo Wilson’s concept
of ocean basins, ............. is at juvenile
stage.

(A) Red Sea

(B) Arabian Sea

(C) South China Sea

(D) Dead Sea

Assertion (A) : Ocean currents are
seasonal or permanent unified
movement of ocean water.
Reason (R) : Ocean currents are
driven mainly by seasonal winds.
Select the correct answer from the
following :

(A) Both (A) and (R) are true and
(R) explains (A)

Both (A) and (R) are true but
(R) does not explain (A)

(C) (A) is true and (R) is false
(D) (A) is false and (R) is true
Which one of the following solute is

(B)

major component by weight in sea
water ?

(A) Magnesium chloride

(B) Sodium sulphate

(C) Calcium carbonate

(D) Sodium chloride

81.

82.

83.

JUN - 36219/11—C

S, ze fawga at=ar @ wm

(A) e 993

(B) 3WET €5

(C) <faqu fort wHz

(D) H9d ¥4

faam (A) : IR yaE ® 9 g

T fohal hrEHe TeiEd YaTe 219drd.

HIOT (R) : TR T8 & WS &H!

TCTeTdeh! ShITAT Hehdldh SRIEX 3Ty ?

Hehdlah :

(A) <= (A) 37O (R) 3T 3TTed o
(R) % (A) = 979 <R 3T

(B) =l (A) {01 (R) STk 3Ted g
(R) & (A) o 3T TR TR

(C) (A) 3/ =T® i (R) I 3T

(D) (A) I% T T (R) 3Tgeh 3T

TTATAdh] RV FHSTAT A0

e S e T ?
(A) HAfIeM FARES
(B) wHifest Hehe

(C) =hfextem™ el

(D) Wifes™ FERES

40



85.

................. deposits are found between

the high and low water spring tide

lines.

(A) Littoral

(B) Shallow water
(C) Bathyal

(D) Abyssal

Consider the following statement(s)

related to the ocean acidification.

(I) Itis aterm used to describe the
changes in the chemistry of the
World’s seas, primarily as a

result of burning fossil fuels.

(II) The COy in the water, which

leads to the formation of
carbonic acid, has caused the pH
of surface oceans to fall by 0.1
units, and it is projected to fall
a further 0.3 — 0.4 pH units by
the end of the century.

Select the correct code :
(A) Only (I)

(B) Only (IT)

(C) Both (I) and (ID)
(D) Neither (I) nor (II)

84.

85.

JUN - 36219/11—C
SO WA= 39 3TITo1 T graesi=an

R e I e
(A) U™

(B) S¥es Uit

(C) ¥R

(D) fercrei

TR TR Eeitel faem

fo=ama =10

(1) H&aq: SaRH SEATAl Se3va
ST ST qvar TETE R
IqA HSd AN & Gl aTel
EIGH

(IT) 9TogTdiel hTeid SIS ©
SREeh STF HHTE SHRTYd 3t
Mo T I3l | 0.1 Teheh™
E I I e N G e M G
M 0.3 — 0.4 Theh[ UG HH]
U 3T 3T

I ehdreh e :

(A) & (I

(B) ®a (ID

(C) I () s (ID)

(D) (D) & g 1) & -
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86.

87.

88.

In deep sea, more regular waves

with rounded wave crests are called

(A) Seiches

(B) Swell

(C) Clapotis

(D) Tidal

Assertion (A) : Salinity of the
ocean water is not same everywhere.

Reason (R) : Salinity of the ocean
surface is exclusively controlled by
temperature.

Select the correct code from the
following codes :

Codes :
(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) is not the correct reason

(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

Generally seamounts are having

relief meters above

reference surface.
(A) 300-500

(B) 500-700

(C) 700-900

(D) > 900

86.

87.

88.

JUN - 36219/11—C

Bt T st frafaa snfor e
TUIRNS SO TN 3T TRUard
(A) TE=Eg

(B) =«

(C) FAUEH

(D) ¥RdAl-3iRe

faam™ (A) : 9F 9T ARG Ho S
URE 9.

HRUT (R) : 9 U3l &Rdl ek

o te

REIES .

SIEEIRIEE)
Hehdich
(A) (A) T 39 38 W (R) I% 3T

(B) <&l (A) 371 (R) 3T9eh 3Tled Tq
(R) © a9 %R e

(C) T (A) smfor (R) o1& 3Tea
(D) T (A) =nfr (R) 9% 3Tea
T JEarHTeR WA YSRT WIERT S

(A) 300-500
(B) 500-700
(C) 700-900

(D) > 900
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89.

90.

The oceanic crusts are mainly

composed of ................... type of

rock.

(A) Andesite

(B) Granite

(C) Basalt

(D) Mud

Match the following :
Ocean bottom configuration
(@) continental shelf
(b) continental slope
(¢c) ocean deeps

(d) deep sea plains
Characteristics :

(1) Covers two-third part of the
ocean floor.

(2) Depths between 3000 and 5000
fathoms

(3) Off broad low land coasts

(4) Abrupt change of gradient
(@ ®) @ (@

A @ 6 1 @

B @O @ @ O

< @ @ @ @

O @ & @ @

89.

90.

JUN - 36219/11—C

I YeheE B HEAd:

JhAT TEHMT FTeiel TS
(A) e

(B) e

(C) =Eiee

D) ®e

Gl Siedl Jeodll :

YR de ASOf

(@) T ¥4

(b) TEE N

(¢) W feeita

(d) @ wR RE

EIE=A

(1) | a3 SE-gaenel 9T SATad.

(2) Ir=t @t 3000 d 5000 HeHSA
M 3.

(3) TEd faggd A de.
(4) AR ST dGl.

(@ ®&) @ @
A @2 6 1 @
B O @ @ B
e & @ @ @
D @ B @ @
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91.

92.

93.

Endangered species are those which

have lost % of its

population.
(A) 50
(B) 60
(C) 65
(D) 70

Some parts in urban areas tend to
be warmer than their

surroundings is known as

(A) Lapse rate

(B) The venturi effect

(C) Urban Canopy layer effect
(D) Urban heat island effect

The complexity of any food web does

not depend upon the
(A)

Diversity of organisms in the

systems

(B) Length of the food chain

(®)

Homogeneity of organisms in

the systems

(D)

Alternatives at different points

of consumers in the chain

91.

92.

93.

JUN - 36219/11—C

AU USIdl  SAed Sl SAae

%o TFHEEAT THIECA! 3T
(A) 50
(B) 60
(C) 65
(D) 70
IR e AW A= Gfiadrer

U N
TEUTATd.

(A) T

(B) =g aRom

(C) Bl I=BrRA WX 9y
(D) v I 92 uRomm

HIVRT T Sl foerseal IR
e 9 ?

(A) He&dte St fafaea

(B) GIE]l

(C) H&dte Sfar=t TeweHmd

(D) weareRT=a fafay fewmon staaa

P31 RG] [ MR O )
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94. The amount of plankton to be found | 94. TG AEBUT=A AR GHOT
in the ocean is not determined o fafvea 8@ &
[0)) /2SR
(A) oA e
(A) Depth of the water
(B) 9ril Yerg
(B) The ocean currents
.. (C) dHHM 9 &Rdn
(C) Temperature and salinity
(D) Length of the day and night (D) 9 W =
95. It was emphasised by India that | 95. ‘TiREy fHe™ &1 SMEE=N w@ferRviE
‘The removal of poverty is an - . N
Helad e QUiaTd S| g
integral part of the goal of an
environmental strategy for the world ST ST WHT 3R 3™ HIdATh g
in ... SERR A S 2
(A) U.N. Conference on Human
Environment at Stockholm, (A) HE qafeRo Frerdiet Fg qEm
1972 e, WrhgH, 1972
(B) The Vienna Convention for the
Protection of the Ozone Layer, (B) S T FiaomEe few
1983 afeaem, 1985
(C) Preparatory Committee
Meeting, Geneva, 1991 (©) ’ &1, 1991
(D) U.N. Conference on Environ- (D) TETeRw o oo Feriel T TEam
ment and Development, Nairobi,
1999 TREg, e, 1992
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96. Study dealing with the relation of

97.

individual species to its environment
is known as ...............
(A) Synecology
(B) Autecology
(C) Community ecology
(D) Population ecology

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Carbon dioxide
b)
(c)

(d)

Methane
Nitrous oxide
CFC
List II
(1) Fertilizers
(2)
3)
(4)
Codes :
(@)
A )
B) @)
© 3
D) @)

Fossil fuels
Paddy fields

Liquid coolants

®)
(2)
(1)
(4)
3)

(c)
4)
(3)
2)
(1)

(d)
(1)
4)
(1)
(4)

96.

97.

JUN - 36219/11—C

LS JSIA A=A GO STE0=1
goao‘ 31 'l%"U'lﬁ ..............

(A) farerarst

(B) afewIarsit

(C) T ufifeerdt fomm
(D) Shagen afiftadt famm

FE-1 9 AEI-11 = Siedl Swdd
TTelial Hehdiiqd ard v fHaer -

rat-1
(@) e SHESTFIES
(b) faeA
(c) TIEH 3SHES
(d) H.UwH.
aret-11
(1) T
(2) Shared gem
(3) W &+
(4) sd VitacTsh
Hehdieh :

@ &) © @
Aa & @ @ @
B @ O B @
© B3 @ @ @
M @ B3 O ©@
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98. Ramsar Convention’ is mainly | 98 TH®R FegeM yHEAM = S ICENE
known as the convention of .............. 5 N
(A) Wetlands of International RS \jﬂlooum .
importance (A) SIS Hg@=l qIv1ees
(B) Hilly Forests of National (B) U HewdTdl ST o+
Significance ST Sy
(C) The law of the seas ©)
(D) Hazard waste management (D) ®=mdeh el SHIETIA
99. Deep ecology does not support : 99. TEIA YRl HIME THLYT <
(A) Continuing inquiry into the T 2
iate h 1 N - .
zﬂ)lfgfna © AR Toles on ot (A) I TRIERIe I Hel fHenT=il
(B) Root cause analysis of HI?I?T{U'T RISl
unsustainable practices (B) 3memead fewarsan wron= qqs
(C) Enhancement of human ECeanu
consumption :
(D) Conservation and restoration of (©) k .“ [lfl LU lE‘i are
ecosystems (D) afREeer= Fagq smfor gad=em
100. Assertion (A) : One of the main | 100. faem (A) : = TgHT == Heeer=n
objectives of the Central Pollution .
Control Board (CPCB) is to o7 it i RIS T GG
coordinate the activities of State [BRELEECRIRERIERUEREFUICL
Pollution Control Boards and resolve Al faare s .
the dispute among them. T Sy e T
Reason (R) : The CPCB is the ] (R) : ) A )
international board and has a T OAEE HEB 38 9 T g
central office as well as a network FEied ST Sra fafay fowmft feem
of zonal offices located in various faamie SRlaas 918 o,
places in the world.
Which one of the following is EIEAIeeR! AU S e 2
correct ? (A) T (A) F (R) 319 31897 (R) ¥
(A) Both (A) and (R) are true a.nd (A) = 9 T R
(R) is the correct explanation B) A) 3 R) R) ¥
of (A) T s L
(B) Both (A) and (R) are true and (A) ¥ IiT IR RN
(R) is. not the correct (C) (A) =% MR q—{@ R) ® I%
explanation of (A) .
(C) (A) is true but (R) is false )
(D) (A) is false but (R) is true (D) (A) I 3R Rg (R) & 3TF 3
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ROUGH WORK
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